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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 4 Days (B) 8 Days (C)12 Days (D)3 Days (E)None of these

6 Boys and 6 Women together can complete a piece of work in 6 days. In how many days can 15 Boys 
alone complete the same work if 9 women alone can complete it in 10 days ?
6 लड़केऔर 6 महिलाएं हमलकर एककामको 6 हिनो ं में पूरा कर सकते िैं। 15 लड़के अकेले उसी
कार्य को हकतने हिनो ं में पूरा कर सकते िैं र्हि 9 महिलाएं अकेले इसे 10 हिनो ं में पूरा कर सकती िैं?
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What Approximate value should come in the place of question mark(?)in the following 
questions?

1.  142 % of 3915 + 2874 = 12600 − ? 

(A)4615 (B)4565 (C)4260 (D)4090 (E)4165
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What Approximate value should come in the place of question mark(?)in the following 
questions?

2. 487.532 + 2849.029 − 675.48 = 743.095 + ?

(A)1620 (B)1920 (C)1820 (D)2020 (E)1720
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What Approximate value should come in the place of question mark(?)in the following 
questions?

3. (199.083 ÷ 9.982 ) × 145 = ? ÷ 3.045

(A)9600 (B)8700 (C)8600 (D)8500 (E)8650
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What Approximate value should come in the place of question mark(?)in the following 
questions?

4.  12.89 × 17.65 − 8.789 × 13.897 = ?

(A)110 (B)140 (C)100 (D)120 (E)93
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What Approximate value should come in the place of question mark(?)in the following 
questions?

5.  42.8² − 33.7² + 6.4³ = ?% of 250 

(A)244 (B)197 (C)298 (D)413 (E)383
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What should come at place of the question mark (?) in the following number series ?

6. 424 ,   540 ,    635 ,    711 ,     ?

(A)775 (B)770 (C)745 (D)795 (E)812
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What should come at place of the question mark (?) in the following number series ?

7.       43 , 133 , 275 , 291 , ?

(A)155 (B)127 (C)0 (D)−25 (E)25
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What should come at place of the question mark (?) in the following number series ?

8. 4372 , 2691 , 4455 , 2606 , ?

(A)4535 (B)4478 (C)4542 (D)4622 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

9.     48 , 15 , 78 , 16 , ?

(A)115 (B)110 (C)124 (D)144 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

10. 11 , 31 , 69 , 131 , ?

(A)220 (B)209 (C)223 (D)225 (E)None of these
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11. Length of a rectangle is increased by 20% whereas its breadth is reduced by 12.5%. 
Find the net percentage change in its area?
एकआर्तकी लंबाई में 20% की वृद्धिकी जाती िै जबहक इसकी चौड़ाई में 12.5% की कमी की
जाती िै। इसके के्षत्रफल में शुि प्रहतशत पररवतयन ज्ञात कीहजए?

(A)Increased by 5% (B)decreased b y 5% (C)increase by 7.5% (D)decrease by 7.5% (E)no change
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)25 (B)30 (C)15 (D) 20 (E)22

12. The sum of ages of A,B and C is 123 years. 5 years ago, the ratio of their ages was 5: 9:13. What is 
A's present age ?
A, B और C कीआरु् का र्ोग 123 वर्य िै। 5 वर्य पिले, उनकीआरु् का अनुपात 5:9:13 था।Aकी
वतयमानआरु्क्या िै?
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13. A work twice as that of B and thrice as that of C . If B and C working together completes a 
work in 15 days, then A working alone will complete the whole work in how many days?

14. A, B की तुलना में िोगुना और C से तीन गुना अहिककार्य करता िै। र्हि B और C हमलकर एक
कार्य को 15 हिनो ं में पूरा करते िैं, तो A अकेले कार्य करके पूरे कार्य को हकतने हिनो ं में पूरा
करेगा?

(A)15 days (B)12.5 days (C)18days (D)24 days (E)None of these
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14. Ankita started a business with Rs 50000 and after 4 months Kavita joined her with Rs 
120000. Ankita received Rs 58000 as share of profit including 10% commission for 
managing the business. What amount did Kavita received?
अंहकता ने 50000रुपरे् के साथ एकव्यवसार् शुरू हकर्ाऔर 4 मिीने बाि कहवता साथ
120000रुपरे् के साथ जुड़ गई। अंहकता को व्यापार के प्रबंिन के हलए 10% कमीशनसहित
लाभ के हिसे्स के रूप में 58000रुपरे् हमले। कहवता को हकतनी राहश हमली?

(A)72000 (B)80000 (C)90000 (D)100000 (E)75000
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15. A batsman scored 112 runs which included 10 boundaries and 5 sixes. What percent of 
his total score did he make by running between the wickets? 
एक बले्लबाज ने 112 रन बनाए हजसमें 10 चौके और 5 छके्क शाहमल िैं। उसने हवकेटो ं के बीच
िौड़कर अपने कुलस्कोर का हकतना प्रहतशत बनार्ा?

(A)32.5% (B)28.8% (C)37.5% (D)62.5% (E)None of these
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16. Raju sells an article at 20% profit. When the cost price of article was reduced to 62.5% 
of its original cost price he also reduces selling price of article by 260 Rs. If his new profit 
percent is 40%. Find original cost price of article.
राजू एक वसु्त को 20% लाभ पर बेचता िै। जब वसु्त का लागत मूल्यउसके मूल लागत मूल्यका
62.5% कर हिर्ा गर्ा तो वि वसु्त के हवक्रर् मूल्य में 260 रुपरे् की कमी कर िेता िै। र्हि
उसका नर्ा लाभ प्रहतशत 40% िै। वसु्त का वास्तहवकलागत मूल्यज्ञात कीहजए।

(A)800 (B)750 (C)500 (D)1250 (E)1500
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17. Perimeter of an equilateral triangle is 12√2 cm. Find the area of triangle.

एकसमबाहु हत्रभुजका पररमाप 12√2 सेमी िै। हत्रभुजका के्षत्रफल ज्ञात कीहजए।

(A)8√3cm² (B)12√3cm² (C)8√2cm² (D)12√2 cm² (E)None of these
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18. A bag contains 6 Red and 5 Blue balls. If three balls are taken out one after another 
without replacement, Find the probability that at least one ball is of red colour . 
एक बैग में 6 लालऔर 5 नीली गेंिें िैं। र्हि तीन गेंिो ं को एक के बाि एक हबना प्रहतस्थापन के
हनकाल हिर्ा जाता िै, तो कम से कम एक गेंि लाल रंग की िोने की प्राहर्कता ज्ञात कीहजए।

(A)2/3 (B)11/33 (C)29/33 (D)31/33 (E)None of these
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19. In what ratio a shopkeeper should mix two varieties of Rice costing 35 Rs/Kg and 48 
Rs/Kg so that on selling mixture at 52 Rs/Kg he may get a profit of 30%?
एक िुकानिार को 35 रुपरे्/हकलोग्रामऔर 48 रुपरे्/हकलो की चावलकी िो हकस्ोंको हकस
अनुपात में हमलाना चाहिए ताहक हमश्रणको 52 रुपरे्/हकलो पर बेचने पर उसे 30% का लाभ
प्राप्त िो?

(A)5:3 (B)3:5 (C)5:8 (D)8:5 (E)None of these
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20 . Simple interest on a principal of 2 years is Rs 108.80 and compound interest on same 
principal for same time period and rate of interest is Rs 115.60. Find rate of interest.

2 वर्य के मूलिन पर सािारणब्याज 108.80 रुपरे् िै और उसी मूलिन पर समान समर्अवहि
और उसीब्याज िर के हलए चक्रवृद्धिब्याज 115.60 रुपरे् िै। ब्याज िर ज्ञात कीहजए।

(A)12.5% (B)8% (C)10% (D)15% (E)None of these
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Direction for Question : - Study the information carefully and answer the following questions:
The total population of Alambagh is 7100, out of which 36% people are rich. The total population 

of Alambagh is 11 1/4% less than the total population of Krishna Nagar, while there are 29% people 
in Krishna Nagar who are rich. In Gomti Nagar, the rich people are 80 more than that in Krishna 
Nagar, which is 40% of the total population of this town. The average population of Hajaratganj and 
Chaarbagh is equal to the average population of Krishna Nagar and Gomti Nagar; while the 
difference between their populations is 3600, (City Chaarbagh is more populated). 47% of the 
population of Hajaratganj are rich. Overall 46% of the population of all towns' are together rich.
प्रश्न के हलए हनिेश :-जानकारी काध्यानपूवयक अध्यर्नकरें और हनम्नहलद्धित प्रश्नो ं के उत्तर िें: 
आलमबागकी कुल जनसंख्या 7100 िै, हजसमें 36% लोग अमीर िैं। आलमबाग की कुल
जनसंख्या कृष्णा नगर की कुल जनसंख्या से 11 1/4% कम िै, जबहक कृष्णा नगर में 29% लोग
अमीर िैं। गोमती नगर में, कृष्णा नगर की तुलना में अमीर लोग 80 अहिक िैं, जो इस शिर की
कुलआबािी का 40% िै। िजरतगंजऔर चारबाग कीऔसत जनसंख्या कृष्णा नगरऔर गोमती
नगर कीऔसतजनसंख्या के बराबर िै; जबहक उनकीआबािी के बीच का अंतर 3600 िै, 
(चारबाग शिर अहिकआबािी वाला िै)। िजरतगंज की 47% आबािी अमीर िै। सभी नगरो ंकी
कुल जनसंख्या का 46 प्रहतशत एकसाथ िनी िैं।
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The total population of Alambagh is
7100, out of which 36% people are rich.
The total population of Alambagh is 11
1/4% less than the total population of
Krishna Nagar, while there are 29%
people in Krishna Nagar who are rich. In
Gomti Nagar, the rich people are 80
more than that in Krishna Nagar, which is
40% of the total population of this town.
The average population of Hajaratganj
and Chaarbagh is equal to the average
population of Krishna Nagar and Gomti
Nagar; while the difference between
their populations is 3600, (City
Chaarbagh is more populated). 47% of
the population of Hajaratganj are rich.
Overall 46% of the population of all
towns' are together rich.
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(A)1200 (B) 1400 (C) 1600 (D)800 (E)None of these

What is the difference between total population of Gomti Nagar and that of Hazaratganj?

गोमती नगरऔर िजरतगंज की कुल जनसंख्या में हकतना अंतर िै?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)53.33% (B)43.33% (C)73.33% (D)47.67% (E)None of these

If 35% of the rich population of Gomti Nagar are women, while 30% of the overall population of this 
town are women. Then what percent of women population are poor women.
र्हि गोमती नगर की 35% अमीरआबािी में महिलाएं िैं, जबहक इसशिर की कुलआबािी में 30% 
महिलाएं िैं। तो महिलाओंकी जनसंख्या में हकतने प्रहतशत गरीब महिलाएं िैं |

E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)18.125% (B)14.325% (C)17.875% (D)20.125% (E)None of these

If in the next year the total population of Krishna Nagar would increase by 20%, while rich population 
would decrease by 25%, then what percent of population in next year would be rich.
र्हि अगले वर्य कृष्णा नगर की कुल जनसंख्या में 20% की वृद्धि िो जाती िै, जबहकअमीरो ंकी
जनसंख्या में 25% की कमी िो जाती िै, तो अगले वर्य जनसंख्या का हकतना प्रहतशत िनी िोगा?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 3250 (B)3260 (C)3230 (D)3296 (E)None of these

Find the approximate average number of people who are rich in the given towns.

हिए गए शिरो ं में अमीर लोगो ंकी अनुमाहनतऔसत संख्या ज्ञात कीहजए।
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(A)28% (B)27% (C)26% (D)29% (E)30%

What percent of population of Chaarbagh are poor? (Approximate)

चारबागकी हकतनी प्रहतशतआबािी गरीब िै? (अनुमाहनत)
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